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Question Number : 26 Question Id : 40503611031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An ionic micelle is formed on the addition

of :
Options :

liquid diethyl ether to aqueous NaCl

40503640096, solution

excess water to liquid

N

NI‘H o "\]ﬂ. IJ FE:_;
e 7 cH
40503640097. 3 st
40503640098. sodium stearate to pure toluene
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excess water to liquid

s .
40503640099. H,C CH,

Question Number : 26 Question Id : 40503611031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T At e w9

Options :
=9 U T4 ol Feitd NaCl oo

40503640096, 1 =1 9T
W - ST 1 29
N S N . 1_;:[_: e =
= ol T
40503640097 3 3
40503640098, neaH FTCIE T & TCTe H Sfef T
- A Fl =9
N.. _N ¥ 4
Ao N
H;C CHj,
40503640099, 1 o1 T

Question Number : 27 Question Id : 40503611032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
100 mL of 0.1 M HCl is taken in a beaker
and to it 100 mL of 0.1 M NaOH is added

in steps of 2 mL and the pH is continuously 8
2 % collegedunias
measured. Which of the following graphs India’s argest Student Review Platform

correctly depicts the change in pH ?



Options :

40503640100. —

40503640101. B

vol. of NaOH

40503640102. —
7F——--
pl | "
vol, of NaQH
40503640103. —

Question Number : 27 Question Id : 40503611032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
0.1 M HCl % 100 mL 1 U% =it § foma
ST € a4 599 0.1 M NaOH % 100 mL &1
2 mL % &I H SIE W € 99 $9 pH
=R =T ST 2@ | pH H 9iEda & e
fern fFr=fafag eneml § 9 F 98 22 _
W collegedunias
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40503640100. e

40503640101. —

40503640102. —

NaOH =1 S d4
40503640103. ‘

Question Number : 28 Question Id : 40503611033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Consider the follnwing molecules and

statements related to them :

0
r:j ~H
W 1
(A) :

TI: ~O>H

(a) (B) is more likely to be crystalline
than (A)

(b)  (B) has higher boiling point than (A)

(c) (B) dissolves more readily than (A)
in water
Identify the correct option from below :
Options :

40503640104, (@) and (b) are true

40503640105, 0Ly (a) is true

40503640106, (@) and (c) are true

10503640107, \P) and (c) are true

Question Number : 28 Question Id : 40503611033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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7 sl v 39 gEiaa FEE W fEER

g 6,
(A) (|—| 1
O
H o
c|) O) r
®  C

(a) (A) Ff gemn H (B) & fefom a9 =t
T T 2

(b) (A) H (B) =1 Fa«iH 3 2|

(c) (A) I & H (B) Wieal | WA H g4
Eiik

=1 | 9 e fasew 93 -

Options :

(a) T4 (b) T T

40503640104
40503640105, T (a) T ¥
10503640106, (3) T () T T

40503640107, (©) T () B g

Question Number : 29 Question Id : 40503611034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

S
For the reaction 2A + 3B 4 ;{_ — 3P,
= Qcollegedumas

which statement is correct 7 =

Options :



dny _ 3 dng _ 3 dnc
40503640108, At 2 dt 4 dt
dnp _ 2 dng _ 3 dnc
40503640109, 9t dt 4 dt

.dI'I_,‘_u,l 2 dng 4 dn¢

40503640110, At

dny dng dng¢
dt dt dt

40503640111.

Question Number : 29 Question Id : 40503611034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

: ;. S Sl
AR 2A + 3B+ —C — 3P Ffau [
1 9 a8 7

Options :

40503640108.

40503640109.

dny

40503640110, At

dny dng dng¢

40503640111, 9t dt dt

Question Number : 30 Question Id : 40503611035 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 Qcollegedunias



Consider the hypothetical situation where
the azimuthal quantum number, I, takes
values 0, 1, 2, ...... n+ 1, where n is the
principal quantum number. Then, the
element with atomic number :

Options :

4 v '} T
40503640112, b has a 2p valence subshell

40503640113 8 is the first noble gas

40503640114. 0 is the first alkali metal

40503640115, 13 has a hall-filled valence subshell

Question Number : 30 Question Id : 40503611035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TiERfeqd feafa 7 afs v fed 78 ge F|r=A
| ‘n’ F fou Tl @ 9@ I F
qFT[],l,E,......n,n-I—lEﬁ.ﬁTﬂﬁJWﬂ@T
Options :

6 I T 2p-TATeThal SUHITIH # |

40503640112.
40503640113, 8 T TFE TR
40503640114, 9 T SA T T
10503640115, 13 1 SR HoASTHA STHIEIH BT |
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A mixture of one mole each of HEr He and
O, each are enclosed in a cylinder of
volume V' at temperature T. If the partial
pressure of H, is 2 atm, the total pressure
of the gases in the cylinder is :

Options :

40503640116, 22 atm

40503640117, 6 atm
40503640118, 14atm

40503640119, 38 atm

Question Number : 31 Question Id : 40503611036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

H,, He 91 O, Wod% % UF Hiel & a0 =i
T T W/ A V 9 fafa=t 9 3= fFa
S B Afs H, # A 24 2 atm B, @
fafere § 711 =1 wegul a2

Options :

40503640116, 22 atm

40503640117, 6 atm
40503640118, 14 atm

40503640119, 38 atm

Question Number : 32 Question Id : 40503611037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The five successive ionization enthalpies of )
an element are 800, 2427, 3658, 25024 and Qﬁﬂlﬁ%ﬁiﬁ'ﬂfﬁf
32824 k] mol~!. The number of valence

electrons in the element is :



Options :
40503640120, 4

=]

40503640121
40503640122, 3

40503640123, 9

Question Number : 32 Question Id : 40503611037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
UF T HI UF ST AT TIfeuEr
800, 2427, 3658, 25024 741 32824 k] mol !
€1 = H GAshd soiaeiAl #1 @ ¥

Options :

40503640120, 4

]

40503640121.
40503640122, 3

40503640123, 2

Question Number : 33 Question Id : 40503611038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The strengths of 5.6 volume hydrogen
peroxide (of density 1 g/mL) in terms of
mass percentage and molarity (M),
respectively, are :
(Take molar mass of hydrogen peroxide
as 34 g/ mol)

Options Qcollegedunia
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40503640125, U-85and 0.5

40503640126, V-85 and 0.25

40503640127, 1.7and 0.5

Question Number : 33 Question Id : 40503611038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

5.6 A BIelsH WEAEe (99 1 g/ mL)
T qererdl, Gefd Siaeradn a91 Jeniet (M) &
w9, A T

(BESTSA -GS F1 Hiel =991
34 g,-’mnl??f}

Options :

40503640124, 17 7025

40503640125, U-85 T 0.5

40503640126, 0-85 41 0.25

40503640127, 1.7 A410.5

Question Number : 34 Question Id : 40503611039 Question Type : MCQ Option Shuffling : Yes
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Among the statements (I — IV), the correct

ones are :

() Be has smaller atomic radius

compared to Mg,

(IT) Be has higher ionization enthalpy
than AL

(ITI)  Charge/radius ratio of Be is greater
than that of AL

(IV) Both Be and Al form mainly covalent

co mpounds.

Options :
40503640128, (D (IT) and (IID)

40503640129, D (I and (IV)

40503640130, (), (D) and (IV)

40503640131, (D, (II) and (IV)

Question Number : 34 Question Id : 40503611039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FH (I - V) H AR FAE
() Mg =i o H Be =il TTH 5= B2t

2
(1) Al 7 279291 Be %1 A5 T=Iedl i
z
(II) Al &1 391 Be &1 31991/ B 19ma
Afer
(IV) =i Be A9 Al H&AT: Heddrers AT
A E |
Options :
sstseiorzs, (0 7 (D O collegedunia

40503640129, (D, (IT) T (IV)



40503640130.

40503640131.

(II), (II) == (IV)

(), (I 7= (V)

Question Number : 35 Question Id : 40503611040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The incorrect statement is :

Options :

40503640132.

40503640133.

40503640134.

40503640135.

Manganate and permanganate ions
are tetrahedral

Manganate and permanganate ions

are paramagnetic

In manganate and permanganate
ions, the w-bonding takes place by
overlap of p-orbitals of oxygen and

d-orbitals of manganese

Manganate ion is green in colour and

permanganate ion is purple in colour

Question Number : 35 Question Id : 40503611040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1

TeAd F94 §
Options :

40503640132.

40503640133.

Zl

THE T WHTHE AP 9 o

Zl
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T2 991 WHITAE SEA1 | ST &
p-FEFI A HUAN F d-FHeHl F
40503640134, ST o I - HATHT T € |

HIHZ 3799 2L &1 2 99 WHTHE S

40503640135, Tereiited 1 1 &
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Complex A has a composition of
H,O,ClyCr. If the complex on treatment
with conc. H,50, loses 13.5% of its original
mass, the correct molecular formula of A
IS :
|Given : atomic mass of Cr=52 amu and
Cl=35amul]
Options :
40503640136, L FHLO)CCL - H0

40503640137, LCT(H0),CLICT - 2ZH,0

140503640138, |Cr(H20)3Cl5] - 3H,O

40503640139, LF(FLO)6ICh

Question Number : 36 Question Id : 40503611041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HFa A F "9 H,,0,CLCr ¥ afz TFa
= H,S0, F 919 #Af4fFa &3 T 9
el Hefd &1 13.5% @1 a1 &, @ A &1 T8
Ao A %

ERUREL 2. A Hafd Cr=>52 amu 41
Cl1=35 amul]
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Options :

40503640136, | X (H20)5CIC, - HO

40503640137, LCr(H0),CL]Cl- 2H,0

40503640138, |CFH0)3CL] - 3H,0

40503640139, L (F20)6lCL3

Question Number : 37 Question Id : 40503611042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The d-electron configuration of
[Ru(en);]Cl, and  [Fe(H,0),]|Cl,,
respectively are :
Options :
40503640140 2 5 and 12

&) 0 (&) 0
to, €, and ts, €,
40503640141, & B %8 "8

4 Z (i [
ta, e, and t5, €,
40503640142, 28 “g 4N t2g g
5 b A
t5, e, and t5, €,
40503640143, © B &8

Question Number : 37 Question Id : 40503611042 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
[RU{C‘I‘[].-_E]{:IE G [FQ{HED]{-J IC 12 ED d—sﬁa‘gﬁ
formamg wHw: ©

Options :

thy o2 Tt < A collegedunia
40503640140. S



'ﬁ
o1 15
s0s036a0141, 28 € g 2 g

tz 7 T tz
40503640142, ° K : 2

1§, el mem td,
40503640143, B L & L

Question Number : 38 Question Id : 40503611043 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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The incorrect statement(s) among (a) — (d)
regarding acid rain is (are) :

(a) It can corrode water pipes.

(b) It can damage structures made up
of stone.

(c) It cannot cause respiratory ailments
in animals

(d) Itis not harmful for trees

Options :

40503640144, (3)- (b) and (d)

40503640145, (3)- () and (d)

140503640146, (©)and (d)

40503640147, () only

Question Number : 38 Question Id : 40503611043 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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AT 991 F 99 H F9F (a)—(d) H H

T 97 2738
(a) IE WA % SUl I Heqfd a2 |
(b) &% WeeR i = WTESAT o1 Al TgaT

()

(d)

1

TE HATIE § YIHA 1 STHE F HE
& & g 2

7% T2l F fom afens T &

Options :

40503640144.

40503640145.

40503640146.

(a), (b) @ (d)

(), (c) 941 (d)

(c) 7= (d)

40503640147, (©) A

Question Number : 39 Question Id : 40503611044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The incr easing, order of the reactivity of the

following compounds in nucleophilic

addition reacton is :

Propanal, Benzaldehyde, Propanone,

Butanone
Options :
Propanal < Propanone < Butanone <
40503640148, benzaldehyde

Benz aI::lc-h}-'de < Prnp anal

40503640149, Fropanone < Butanone

40503640150.

Benzaldehyde < Butanone

Propanone < Propanal

:
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Butanone < Propanone <

40503640151 benzaldehyde < Propanal

Question Number : 39 Question Id : 40503611044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1

faefafga atfrat #1 Tfawet gime
sAfafamanadi § sAfafmarsiicran =1 @z w9 2 :
Options :
40503640145, 1 < T < T < Fsiifezeree

= ” = . o » -
40503640140, RS ALELE CALLR S ST

n

40503640150, T oMCSEIRS <=M < W < A4

n m s omom » = < =
40503640151, A <A ITICSRIEE < H9Fer

Question Number : 40 Question Id : 40503611045 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
Consider the following reaction :

_ oe .
H| ﬁ,ll\—/ Oll)a

-
o

Chromic .,

—_———— e
anh}rdride

The product ‘P’ gives positive ceric

ammonium nitrate test. This is because of

the presence of which of these —OH

group(s) ? Qcollegedunias
Options : & India’s largest Student Review Platform

40503640152, () and (d)



40503640153, (©) and (d)

40503640154, (P only

40503640155, (4 only

Question Number : 40 Question Id : 40503611045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Correct Marks : 4 Wrong Marks : 1
frafefaa sfyufs @ fa=ar =it

B OH)c
dEDOL e s o ':HE'
hITHH >

ey S4B 1 92 59 ¥ R — OH "9 =+
Jufefd & R &2
Options :
40503640152, (¢) T (d)

40503640153. LRl o

40503640154, (P) FMA

40503640155, () A

Question Number : 41 Question Id : 40503611046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Three isomers A, B and C (mol. formula

CgHyN) give the following results :

AandC Diazotzatbion F+Q (1) Hydmoly s f [P“”Ju"t of ﬂ'-]

(i) exidation 5 (product of C)
EMrOg+HY)

R has lower hcrili_t"lg pr:ri_nt than S

g —CellsS0:Cl | alkali-insoluble product

A, B and C, respectively are:
Options :

CH,CH, CH,MHCH, MH,
o i

| T CHyCHy

40503640156. ok

[ I:L"F [_. ) MHCT I;.l'FE_. ) Ml I:
it i E
40503640157. " ' T oncn,
_ NH; .. CHaNH, N
. ~__:__,\L.H2L_H3 . xl. Ilf .
40503640158. cH, CHyCH,
i Ay _.__./CEI;.Z\'EIC] 5 CH,CH,
s g LS8
40503640159. B N

Question Number : 41 Question Id : 40503611046 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 4 Wrong Marks : 1
@ THEEEEl A, B @91 C (3R CgH,,N)

=
freferfaa foms =5 €
58 ’ . RATTE
|7 s etV A0 O B s, )
(H) SRR 5(CF1 308 )
KMnD g +H*)

R & FEIHF S T FH T

g _CeHsSO:Cl | gR—sTerToiiel Ses

A, BTN C AWM ¥ : Qcollegeduniaé
Options : =




CHCH; CH,MNHCH, MH;
. .I.._ CHACH,
40503640156. e
[ I:L"F [_. _ MHCT I;.l'FE_. Ml I:
et g wd
40503640157. ' CH,CHy
-~ NH, ..__;__.___./CF!;!NH: _;_./1\1] 1,
' \"""\L'Hzt'ﬁa ' \I. I_f .
40503640158. CHy CHZCH;
NEH; -_:_./CEI;.NEIC] Iy - CH,CH,
— CH,CH, I_' < pash
40503640159. : iy

Question Number : 42 Question Id : 40503611047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The decreasing order of reactivity of the
following compounds towards

nucleophilic substitution (S,2) is :

CH,Cl CH,CI
__NO,
o] , ), ,
’\“‘N o,

y (1)
CH,Cl CHyCl
r}__\"""ﬁ-.. P
, PR
NO, oO,N NO,
NO,
(1) (V)

Options :
40503640160, 1D > (D) > (IV) > (@)

40503640161, (V) > (I) > (IT) > (T)

'
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40503640162, W = () > () > (V)

40503640163, (1) > () > (IV) > (T)

Question Number : 42 Question Id : 40503611047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
frafafaa dtfei #t Tfgwrd gfaerm
(Sx2) T W SAffEHaTfieT 1 =2m #9 ¢ :

CH,Cl CH,Cl
,_.,J»-u..._,f‘\]ol

Y iy

[_.-...I:-.._/' ] , [1_’;\\ ’

(D ()

CH,Cl CH,Cl
oL . [ol

[ "NO, O.N  NO,
NO,

(I10) (IV)

Options :
I
40503640160, 1D > (D) > (IV) > (@)

40503640161, (IV) > (1) > (IIT) > (I)

40503640162, O > () > (D > (V)

40503640163, (1) > () > (IV) > (T)

Display Question Number : Yes Is Question Mandatory : No Single Line Questio
Orientation : Vertical ~

Correct Marks : 4 Wrong Marks : 1

Question Number : 43 Question Id : 40503611048 Question Type : MCQ Option .
collegedunia:s



Match the [ Dllr:rwing drugs with their

ther apeu’ric actions :

(i) Ranitidine (a) Antidepressant

(i) Nardil (b)  Antibiotic
(Phenelzine)

(iif) Chloramphenicol (c)  Antihistamine

(iv) Dimetane (d) Antacid
(Brompheniramine)

(e) Analgesic
Options :

10503640164, V(D) ()-(c); (iii)-@); (iv)-(e)

140503640165, D) (W)-(@@); (it)-(b); (iv)-(c)

240503640166, D-(€); ({)~(a); (iii)-(c); (iv)-(d)

10503640167, D-@); (i)-(c); (iii)}-(b); (iv)-(e)

Question Number : 43 Question Id : 40503611048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o Y AT iy ;
(i) YAfedm (a) wiasTEmEE
(i) Wiz (fFafeem) (b) wiastfas
(iii) Tiee] T (c) gttt
(iv) =TEHeA (d) wfa-am=

(R

(e) diewErl

Options :

10503640164, V(@) (H)-(c); (ii)-(a); (iv)-(e)

'
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40503640166. (1)-(e); (ii)-(a); (iii)-(c); (iv)-(d)

10503640167, \U-@); (iD)-(c); (iii)-(b); (iv)-(e)

Question Number : 44 Question Id : 40503611049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The compound A in the following

reactions is :

(i) CHaMgBr /150
(i) Conc. HoSO4 /A
(i) Of

(ii) Zn/H,O

s+ D

C (i) Conc KOH /__\

: , \” ) —coo K+ +
(if) A
(O )—CHyOH
CH; O
Ba(OH), I

M2, HyC—C=CH-C—CH;

Options :

Iy CHS
CH [
CH,

O
|l

CgH:—CH,—C—CH,

?
CeH;—C—
40503640168.
T
" H-—C—CH
40503640169, 6115~ &~ CHs
40503640170.

O

Il
CgHs— C—CH,CH,
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fafafan sfufmane § 9ifms A T
(i) CH4MgBr /H,0
(ii) A= H.S04 /A

W, C+D
(i) £ny a0

"9 KOH /. =]
c V= > _\—EDO KT +

(ii) A
O »—CH,OH
T
Ba(OH
il H,C—C=CH-C—CH,4
A
Options :
0
I , CHj
CﬁHS_C_CH\
40503640168. CHs
T
C.H:—C—CH
40503640169. ¢ 0 3
0
40503640170, ~6F1s— CH2—C—CHs
@
C¢Hs— C—CH,CHj
40503640171. ' =
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The major pmduct in the foﬂf}wing

reaction 1s :

1
J l t-BuOH
[ Heat

Options :

40503640172,
40503640173, |
40503640174, 7

Ot-Bu

40503640175, ]
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Freaferfiga sifufronst & g1 s ¢ :
|
I }\ t-BuOH
] ST
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40503640174.

) C])t-Bu
40503640175. l
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6.023 x 10?2 molecules are present in 10 g
of a substance ‘x’. The molarity of a
solution containing 5 g of substance “x’ in
2 Lsolutionis  x1073

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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WEIETET ‘¥ & 10 g H 6.023 x 1022 I
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2 L faema ® wmid ‘v #15 g 7, @M
- M2
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Question Number : 47 Question Id : 40503611052 Question Type : SA Display Question Number : Yes
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If 250 cm® of an aqueous solution

containing 0.73 g of a protein A is isotonic

with one litre of another aqueous solution

containing 1.65 g of a protein B, at 298 K,

the ratio of the molecular masses of A and

Bis  x10"2 (to the nearest

integer).
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
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Ife WIEM A & T Seid faedd #1250 cm?
fo|H A #1073 g ¥, WA B F UF w@A
faeam fome 1 &fiee § W2F &1 1.65 g T,
298 K W GHTEN § A 991 B F anfvas
defaal &1 o 9a © %102
(Teeas Jui) |
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An acidic solution of dichromate is
Dlectrol}-’zed for 8 minutes using, 2A

current. As per the fGIInwmg equation

CrnO3 +14H +6e” 52 G +7 H,0

The amount of Cr’* obtained was 0.104

g. The efficiency of the process(in%)is
(Take : F=96000 C, At. mass of

chromium =52)
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Answers Type : Range
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STSshIAE & Teh AR [9erd =l 2A fagaym
1 ITAM FF 8§ Az o Sea sroEteq e
| frEfatEd JHE F ANR W
Cry03~ +14 H* +6 e 52 Cr** +7 H,0
a1 Cr?* &1 sHferd /= 0.104 g & S |
WeRH i ST (% H) € (W : F=96000 C,
FIFFFH & WHY] HaEfd=52)
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The volume (in mL) of 0.1 N NaOH
required to neutralise 10 mL of 0.1 N

phosphinic acid is
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The number of /C =0 groups present in a
ttipepfidr_- Asp -Gl — L}-'s is
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TF ¢ I?EEIE gS, Asp—Glu—Lys H 3Iufeeq
C=0 = %1 g € I
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Let R, and R, be two relations defined as
follows :
R,={(a, b) e R2:a2+b?e Q} and
R,={(a,b)e RZ%: a”+b”z Q}, where Qis the
set of all rational numbers. Then :

Options :

R, and R, are both transitive.
40503640181. i

40503640182 Rl is transitive but R2 is not transitive.
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